BEH D =HAAPE R RO TR

20 EAR ZRELERET S BH - ERFHOSREVEROERKR

£ Bl 7E B il
e | FEE |BETE|TRERSREESE aiRkE | FEE |BETE|TRERSREESE
FEITX | BHIS 7 5 0.71 FEBE| X 42 15 0.36
AR =& 10 38 3.80 FEIZE| HBH 23 3 0.13
etz L& 11 2.75 BEX 25 3 0.12
K| BREE 2 3 1.50 fatE Eop] 68 33 0.49
ESkE Eop] 36 6 0.17 MIIE | BREX 12 5 0.42
BRFER| & 14 37 2.64 EEE 22 3 0.14
T | EEB 11 0 0.00 1T1& L& 29 1 0.03
B 1 0 0.00 REM 5 14 3 0.21
fERE SRR 1 0 0.00 ERR ) 13 2 0.15
E4=1 L& 10 3 0.30 AL =P 30 1 0.03
EERBE 8 2 0.25 BkFEE| mE 30 1 0.03
BkFEaE| mE 6 2 0.33 [ BE L& 33 1 0.03
A+nB| E& 12 2 0.17 HE =P 22 3 0.14
RE | BEFH 68 9 0.13 B4 Ei 30 4 0.13
i L& 6 4 0.67 it E 34 0 0.00
FEILRE | IF 1 0.25 fFELRE| =& 36 1 0.03
EES 3 0 0.00 AEER| & 32 8 0.25
yiipEa 54 3 0.06 [EES 35 0 0.00
— ;g - -y 1545 | 18%:% | 530% | 87 | o.16
L =R 33 1 0.03
Bx= 1 0 0.00
EREE | HREFER| 28 6 0.21
iR Eop] 24 11 0.46
BEELE|BEAEY| 16 5 0.31 Pl
macvrz| 28 0 0.00 ke | FEE |BETE|SRERSREEE
188 | 2622% | 3974 | 151 | 038 TRAS| BB | 765 ] 26 | 015
2H%H-ERFHO_XREZERVEEH =ZHBEOEERTE
ik Aot ————
SH-HFEDEH 3A138(A)
B®REH 3A15H (K)
B8 FEK 3178 (£)




